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1 (y —2x)2y +x) & M1 | For den
2y —x)2y +x) & M1 | For num
y —2X .\\ Al
2y — X §
2> 3
2. 90%=300,000 84\ M1
1159 — 115 x300000 M1
Q’b' 0 Al
{?90,000
R 3
3. :2 Bl | For2
NG M1
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S 5
2
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5
3
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2
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Rem :1
5 Al
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5
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3
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6. Log, (x> —9)=4 Q,QQ" M1
2 _9_16 K M1
X -9= QQ? Al
x%? =25 (;o@
N
x=+5 or -5 (Q}’J
S 3
&
7. 50,48,46 .....cooereeerererenn. R M1
T,=50+7x-2 & Al
N M1
=36 3
@ Al
20 <
S, =— +(20-1)x -2
=5 (\ X +(20-1)x-2)
2 =620
Q
réo
& 4
8. Q\Q X(x+4)=96 M1
2 J—
o\e X°+4x-96 =0 M1
' (x—8)(x+12)=0 Al
X=8
Length =12 }
Width =8
3
9. 16 +20 M1 | V min&
-12 -6 deno
36 Al
-18
=-2
2
104) | CE _DE
BC AB
b) XxX+6 15 M1
X=0 M1
V6% -3.75% =4.684 Al
A= %xlS X9.368 —%x7.5x4.684
=52.698
4
11. M1
2;ArxlOO ,000 =2400 M1
100
39 Al
——x180,000 =7020 +
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160 K M1
~0.30+45 sz? Al
=10.15 am 2
25 3
13. X \&‘“
fx 4 (4 18 16 1 2@1 16 9 Bl
cf 215171317 IlQZ 272939
9 M1
K Al
Mean = 129 \6 B1
30 QQJ
=5 o
Q
Median> 4
Q7 4
14. 6)@“8% X+4 B1
o X<24
& X+4 <15 +6X Bl
&Q’ X>-22 Bl
© int egral values : -2,-1,0,2
3
15. 22 _, M1
% x52(10 —6)=314.29
7 %65°(10-6) M1
42 314.29 Al
377
r=4217
3
16. 23(2X+1) X2—6 — 24 +22X Ml
6X+3-6=4-2x M1
; Al
X =—
8
3
17. SECTION 11 M1
a) 5 4200000 + "2 x22 000 M1
100 100 Al
=5000 + 26500
b) — 31500 m
278:__)25 — (5000 +10,000) Al
—~ X =13125 M1
C) 100 M1
x =175 ,000 M1
9 X450 ,000
100 ’ Al
5 75
5000 + —— X200,000 + —— X250,000
100 100
=33,750
40,000 — 33750 X100%
33750
=20%
10
3
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18. [[[d[4]6 Pp5 |4 ,&QC’J‘ Bl
cf | 20[ 140 [I190 230 KQ B1
2
Q’zr Bl
Each bar correctly drawn & B1
5x4+6x10+20x2.5+10x4=170 q‘}‘ Bl
) Q
Line correctly drawn R Bl
Median=21.5 § M1
Median class 10-19 B1
b
i B1
S
> [
Q :
@Q/ 2 Eig
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< H
S i
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19.9) 2502 +3202 —440° M1
Cosd = Al
2x250 x320
_ 0
0 =100.33 M1
M1
1 ) Al
A ==X250X320 Sin 100.33
2 M1
39351 .65 Al
10000 M1 | For area of
=3.9352ha M1 | circle
Al | For diff
R = &
Sin100.33
R=223.6
22 )
A= 7 X223 .6° —39351 .65
=117,781.7m?
10
20. i) 60xh =280 M1
h =4.667 Al
4
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iy X232 M1
y 5
. §y M1
; X Bl
3, <
gy =60 \\6
y =10 ’
X=6 . § M1
o Al
iii) 102 +62 ) M1
=11.66 6\6 Al
R 10
/5.832X4. 72?
=7.468Q’<>9’Q
&
21. | A%BC drawn B1
o2 Liney =-x drawn Bl
<&l a ABC draw Bl
O&Q’ Rotation Bl
s A A"B"C" drawn Bl
A"(-5,3),B"(-35),C"(-3.1) B1
A A"B"C" drawn B1
Bl
Enlargement , centre(0,0) s.f.-1.5 B1
T[_E'SJ B1 | For both
B* (213 .5)
ok (2,-75)
10
22.a) | 40x+25y-380,000 Bl
35x+18y=301,500 } M1
M1
b) M1
Al
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40 25)x) (380,000 N
s wly) o) o€ i
35 18 \y) (301500 > M1
_1( 18 —25Y40 25Yx Qfo@% 18 —25(380,000 Al
155(-35 40 )35 18 155 (-35 40 ) 301 500 M1
(1 o](sz(%ooj §f\ AL
0 1)y, (8000
o
. S
Maize x=4500 .,
Beans= y=800@"
c) i) A\:@x450x40 + 85 x8000x25
& 100 100
¢ =386,000
\k.
Q.. 110
M) A=-"-x386,000
o 100
S — 424 600
10
23, B1
- B1
B1
B1
B2
B2
™M B2
N
i) 4.4x50=220km + 5
iii) 8.5X50=425+5
iv) 200°
10
24, | y=5+8x-2x° B2 | Forall
a) X 2 |1 o 1 2 3 4 5 6 Bl | valuesV
8x+5|-11 |-3 |5 13 |21 |29 |37 |45 |53 For at least 5
-2x° | -8 -2 0 -2 -8 -18 |-32 |-50 |-72 values of y\
y |-19 |5 |5 11 [13 |11 |5 5 |-19
b) Graph drawn on graph paper S1
P1 | v Scale used
C1
B1
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¢) i) x=-0.6 & 4.6+ 0.1 S
y =5+8x —2x°
i) 0=3+5x-2x2 -
y =2+3X
x 0 1 -1
y 2 5 -1
x=-0.6 &11
d) Line x=2
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